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HEATE “bright” 1 1 Hgehd
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11. 93 & 93 B 10% =Frece [Few T |

 3f wEe 5600 B @R W Rew a9, O
- 18% S 7S T 20% sTice Rerd 30T, Rewwgey
- FO ORI TR N

(A) 25,000
(B) 21,000
(C) 23,000
@y 24,000

T ST 10% SR TV 35| AR 36l

| 5600 FUU TS THH TEH YT, IHA 18% H TH
Y fori | e T TV 20% T Seiehl T, el

fereh! o=t hid T §S?

(A) 25,000
(B) 21,000
(C) 23,000
(D) 24,000




: ank w1th fhe appropriate word:

(A) A

(B) One
(©) An
D7 The

N
e

14.

DEICAS

(A) =CH
(B) fafe
L (©r w1
(D) FH7
e AR STedt W et Ta fd?
(A) et

(B) fewedt

(C) smay

@I B 7] R

Boeing 747landed in Dumdum ¢

- ® WWW‘”“" st
| S () e | Ce

Wt G £
y X ¥

ot
L)

16. R FRFE TR T IR TUR =T,
TR W ‘ColRE 77, “Cotter” T “ahiar =, ‘it I
3 ?

A) I

(B) 5Oi¥

(C) (iF

Dy st

Hegehd fefom s’ g9 ‘#fm’
‘g s e, e e e S e e
‘m'nmwmﬁwwﬂw

(A)

(B) R

(C) ¥

(D) FgR

(D) T
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21. 3G Sl oeE ©taiEE (Quoﬁent) , OINIES

' (Remainder) 5 % 932 ©I&= (Divisor) SIS
9 @ | ©IEF 135 T, ©Iey (dividend) T© 2

{

(AT 10140

(B) 12125

(©) 10125

(D) 12140

TS fauSHeRl I, YFTRA (Quotient)
A9Rel (Remainder) =T W (5 times) T[T 31

9197 (Divisor) e T A (9 times) TOMS | AfE

WIS 135 HY, 99 (dividend) wfd 57
(A) 10140
(B) 12125
(C) 10125
(D) 12140




.
o4

, .. ' :%L e

lﬂt
'K‘ml (! ﬂ

5 o (ACAECR¥ 5 7

TR & fa@m H‘Fﬁ SIS —
PCPAPPACPAQCPPACPQRCPPACPACPACRPP

HIfeeh! HHAT SHiaaer C ?FLW aaﬁr A
S ST 9o P o7

- (A) 3

(B) 6

() 4

D) 5

27. T o7 T ¢
@refl 318 W
EL27, CG19, AC13, YZ9, l
(&) WX7 B
(B) PQIL5
(C) AB7
(D) AX13

[Please Turn Over]



RB/LC/WBP/FWE/2023 (8)

28. i Ith [RetafSwra Sesetre Fae
TS q=F?

32. CHIeeTl =R 7000 Giw GG &T4Ca= N0 A,
*IGE (2T 200 BRF @R @dR =i, A9 (A
400 B @M RGeS @ | TEE G@ G5

(A) 60
(B) 70 3500 Bl =11 2¢eT, A T bIpl eTeyief A2
(C) 62 ) 1300 S
(D) 65 (B) 2100 %)
1200 :

YRG! Helld AR (Supreme Court) Eg; 1000

STSTEEehl YaTgftaen SHY i ar? .
(A) 60 TS FUehl guf Ysit 7000 F9C A1E THE
(B) 70 WH Y1 200 TUC ST GSf T 21 SHeT g
©) 62 400 TIC S5t Yt e | @ 3500 F9Q
D) 65 YT, THH HFT Hiq 7 -

Fill in the blank with the appropriate preposition:

29. Irest your promise.

(A) 1300
(B) 2100 O
©) 1 .

) ™

(A) to

(B) on O
(©) with Q
() upon K\

30. C.G.S. A=fSr® SItol7 G5 2 (a"
(A) T \*
(B) FIa2i25 @, 33. @3 & 120 BRI =920 vo@ wfoTw g |
€) Fiif 6 mmﬁm«wﬁaﬁgwaﬁmmmwﬁfcﬂ,
(D) e ps I SRR CFea OiF siferast T /e0! B2
C.G.S. faeam & |2 (A) 15
(B) 65
(A) o1
(B) Cr 735
(C) (D) 10
(D) Hefaad Teh AT 20 ST 120 et fireq v |
e ST S ST ST e Toeh] %qmmnzfm
Fill in the blank with the appropriate preposition: T, SR T TR T = (k m/hr) ST At
31. The acrid smell is offensive T e
me.
49 to A) 15
(B) by . (B) 65
(C) with (C) 73
(D) for (D) 10




([Q(R (7 NS a7 B ek
el A - N |¢ ‘

(P E<F[0

2| G, E € F-47 % N[/ 967 9 | D

‘wk <|<BJ f(\ :‘f~'f‘,71'. nce)
SRS g s e | [ ’

R T R ? /
o) A
B) F
g 4 (B)
1 t, - \$ R i
:CD) E E i (CF 1535579274

/ { »A[ ‘ ﬁ\‘H (".“[(:\‘ A \V\ﬂll < »((;M NI ‘; ~

; ) o (G L s
1 eggecls 1YYl SRICThAAT TSIS:

& ﬂo ‘(:ﬁ@(@  etter)

LAk A

%

37. Suddenlya
the farmer. =

Fill in the blank wi ﬂf

(A) pack
(B) colgny e
(C) herd

Turn Over]
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rn RS
1V} AL |

s";ﬁ(— e ‘i:";;/.;,:“___‘:
o] oG vg l(ﬁa LL{Q&:




42. SIS SR’ AW QN AR RAT Tl
siffow e ¢

(A) G S=Em A

(B) WMI®R ASTA&!

(©) A ATE FT A

(D) &AW eFale

P Al YA e TR 9
frea?

(A) T8 g9 @M

(B) TIRIHTE TSIt

(C) T = THR T

(D) HEHT ThdlcT

43. 3% @i AT (AeF @R «ifFew

L) Ter

9 wXEE difel 40 o ufvem S e
TfEale w60 X S| TRER 3 <oufe
(ST ufE) TR 50 et S 311 g8 T Heht FRel:
80 fHex 31 30 fiex s | qufs TR efe ST
S | TH SEHME] F 59 T Hehehl D7

(A) o
(B) <faor
(C) uf¥=m
(D) SW®

L3

e

)

‘ a?aﬁml A,
30% (TES @ 198 FIcs U 1< (one lap) e |
Ol A G2 FI (AT TG!S PO, O TS Faz A
Sl S @78 Fie [fers 2092

(W 46 TG 12 EIP©

(B) 26 fiif 5 18 GItP®

(C) 45 fifo

(D) 42 fiif 5 36 FGIFT

A, B af C Tiegger T feomn ©
T fes @ A, FHI 252 FHUS,
308 TFTS AN 198 (one lap) f&eq

T | At Ay B T e feed g R,
i A P G ST STRYS T2
12 9s
6 f e 18 §e

(D) 42 fae 36 ¥F-s

45. @it T S SISTER-9F FR&©
omoxra, BROTHER-9% 7(F® wasxpra <%
MANY-43 H<G&% bnlq 20, €2 SRR MONITOR-
G FCFS | T ?

&) bslmxsa
(B) bpsmxas

(C) psmbsxa
(D) bsqmxsa

o Teh Tgehd fotfuAl SISTER € omoxra,
BROTHER %= wasxpra 311 MANY & bnlq,

MONITOR T¥ Hgehd Terfudr & g7
(A) bslmxsa
(B) bpsmxas
(C) psmbsxa
(D) bsgmxsa
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/E[02] h 1 Wﬂ Hl le»
2L HI 2 e ’i‘ ul b ‘]Hﬁﬂ \HL””

=

- =
T = AR 90 TRl

(A) 6 ®U
< $ s /| o b
(B) 63721 24 THAZ
~ o 18 BT
(C) 6F&Tq 12 THTE
| (B) 6 w1 18 e

:
i 1'

|

J WY M SRR »:-/ P -0

‘i‘,"( i“ &F’l' :I-’ g
e ftlt—f-'.’ OF

3‘ ﬁﬁ!w .
%b <h] .
.wmw@wwwwa@m
53 @ ¢ T T (R 10% 0 050 | O
(G e Aew QI FO ¢
| @15
(B) 25
(C) 20
@) 21
TSIl SEHM SRS STl @hahl TArT T
10% e, T e 3t farsht et ot | 3l Hid
studies. it T TO?
(A) 15

TRUIE F ¢ TTH

-

TRy

dqIHeT A1S

(C) TSI

ol
chl<Dil

(B) 25
(C) 20
(D) 21



RB/LC/WBP/FWE/2023

3 [ . Y
A9 ST SR (volume) F9 [0 ?

a R a3 = rs1 -~ Al R e s e ST 4 AT )
e ' 54. NI D17 8 SIE (STP) 1 &1 3¢ 2Tl

(A) 234
(B) 22
©) 124

D) 224
1 1 9T HEH AT (volume) T

[ TS T g0 ! ATTHE AT T hid T7
l (A) 234

| (®) 22
j () 124
(D) 22:4

55. e @ FE (Mew Jrad T#AREDA
qo ?

(A) e
(B) Jaoml
| (©) =
A SR AT S ST (1 atio) D) TR
o Sfeed ST ST ET4: 11 | T ekl HRO/A R T
e e gmfsf mﬁmmw?’ y (A) e

o) (A9

/\J) ’}0} -
m)) 29 it {(f) _ (B) g&T=

© 31 "‘.ff' SARHED) (©
@)CB | i T (D) RN

[Please Turn Over]



RB/LC/WBP/FWE/2023

56. A5x i el s, SAeE @ TeiEe
ST TES ot e 2

(14)

57. (e «fe faw e sjef BTt <ifer 25
8 il | wafo a1 fae 2fS fifaws 5 @R @
(BTAIBH 2l a0 (il oy ©fé 2 24
fSifeiG 13131 #fat | (BramsIfore F© o & a2

(A) 48

(B) 72

€f 60

(D) 64 ,

T3 HHI WeTae T3el it Sargeht 8 firemm
Tl g W9 | Afe " Zgwm 5 foeyfies
vﬁmﬁﬁ,mﬁﬂi I g g i

&HAT hid B2
(A) 48

S

st. G & 2 =7 8% b3 2T 83-2 Biwl g
(51e7 | ©IF TR (Principal) “fse @ St 2

(A) 600

(B) 5032

€y 500

(D) 540

T A 8 TEH & AT (Principal)
83.2 TIT =S WISW 8% fafem saremn | et o
= 22

(A) 600

(B) 503-2

(C) 500

(D) 540

Fill in the blank with the appropriate preposition:
59. We study English him.
(A) to 3
(B) for
(C) near
(D) with




(15) RB/LC/WBP/FWE/2023

60. <=ifer TR (energy currency) F a1l 63. (I *i0 Bfze P —
e (A) @5 (Now)
(A) NADP @) i (Again)

() NS (C) #ta (After)

$£) Sus (D) 94 (Then)

D) ATP

Fafeiad ®9eE TSt & (energy SRS AL
currency) W=S? () G Qlei)
" (A) NADP , (B) T: (Again)

(B) NUDP (C) Tfs (After)

(C) ADP ' (D) R (Then)
(D) ATP \
e

RS ST A

61. (@I ALITESD e g —

rap)
AR T for=s ]
(A) 34-30 . Oy @ Toer

(B) 25-21
(€] 44-32 3% Woe-w®h (fault block) Fade! Sr=HT

D) 61-12 ' @mw*m?

(A) 7o

(be (B) ¥R oF
62. 40 ff/=51 @l itk G0 ZIE Eg)) :;;%'
CARITS 60 fBfar/ =51 caTst TG @ (AT .
l%'ﬂ@@ﬁ‘mml T 0y T e
47180
{B).12 65. T ITH TFAICHL A T2
(C) 160 (A) fsfeqm,
(D) 200 % B Fear-
T3 ST G 40 Fereifiet afd =uer Tif s (C) Fem
e 60 ezt i ver i M) 27 e 1 S R
S 9H o2 | g2 srreeh! ot whid fehaiifet s e? frraferiea g7 <TE Wl ST W EH?
(A) 180 (A) feenfeem
(B) 120 (B) WIh¥
(C) 160 (C) ferm
(D) 200 | %550 (D) SIS
vg |

/W [Please Turn Over]



RB/LC/WBP/FWE/2023 (16)
Fill in the blank with the appropriate word: 70, {ErEelE AGiend @& 7G5 @ @ ¢
66. Thisissurely unique situation. (A) 295 Areare
T & a (B) 9o (attfamr
(B) one (C) WBRW
(€) an '7[ 51 Wmm
Uiht forsTTe Ttei) FeET wHre i a7
67. 3,7, 16, 35,9 (A) HerH TSRS
(A) 73 (B) <& Tiifas
(B) 82 (C) Tf&gaa
© 74 (D) FRER
(D) 75 \Q
68. (I *Ireel fbiers 3w — 71. LE N = (A Toa @@=
(A) I 2 3 Wﬁﬁ%@ﬂmm(ﬁ%ﬁﬁaﬂmm
B) TR ¢ g9al Ik S |
(C) Fiifbw & whiRe & ACERT
(D) AR ¢ FAsformmt ) WAL
. (C) ALLEGATION
S T fEms ¢ (D) GALLANT
G2 Al (b. LEGALIZATION 1 Y1 73 At Fua 57
(B) F&rH : Hql $ Y= TR WS T W FERF T =9 A
(C) =l : g K TR T )
(D) TR : Ffeen (b, (A) ALERT
69. 12 &3 G GfSTg TieT,24 @32 26 I2H = iiITEAé ATION
T e IfzER #AfHacs P4 T AR TG EIC); GALLANT
337 2 I2F I A | 7 5% T IO 29 ?

TS I e HHEHT 12 59 B | Afg
GEoT1 24 =744 3117 26 S Afeees 1 T gEem
JeveEc felt, o que ofted 2 afel age | fif g
TeTeEe SHd I FHid 7

(A) 74

(B) 68

(C) 37

(D) 50

72. x+y+2z=9, x2+y*+72=31 3=,
X+ 33+ 23 - 3xyz ="
6AY 54
(B) 45
(C) 48
(D) 64
X+y+z=9, x2+y2+z2=31 qWA,
x4y 428 -3xyz =29
(A) 54
(B) 45
(C) 48
(D) 64



(17)

73. FRAEE @ R @ T& QA qfBee@
S AR s S wifd T st 7=
AR ?

(A) 360
B) 352
(C) 350
(D) 356
RS SfauEa 9 W g8 e s
STSHHFKIHT SRS ST HHHH T2
(A) 360
(B) 352
(C) 350
(D) 356

74, IS TN AF e A0y S 2
(A) ST
(B) TedRe
(C) efext
D) ez
FA TIHT TAATHAR A9 UTeh ©7?
(A) AT
(B) ScR@TS
(C) 3iifesm
(D) TS

O *O] F© Ty
g 75
(B) 85
(©) 70
(D) 65

T T BHEE Hag 85% STSUSTHT IH
9T A 80% STgshAl T 4T | 4fg 10% B g3
fersrem Tet 1w, s wfeerd o ga faemmn o ?

(A) 75

(B) 85

(©) 70

(D) 65

.Q{T“TW?

RB/LC/WBP/FWE/2023

76. N A 7S W0 @b #Rife 7217
(A) (@ o
(B) TGO
(C) aAlRrERep
(D) AT
Frafafea 57 < eriferes vagTe um 22
(A) sherd digehet
(B) THAEA (fehuer)

(C) TSI
(D) wrRIfgaafas @Wm)

Fill in th%&vlth the appropriate word: :
77 g;& of sheep were roaming in

(B) colony

(Cy herd
(D) flock

\\ ) pack

78. 2:13 x 103213 x 100 +2-1212 x 1000 = ?
(A) 182:12
(B) 1822
(C) 18:212
) 18212

Fill in the blank with the appropriate preposition:
79. Getrid
(A) to

(B) on

(C) for

) of

bad company.

[Please Turn Over]
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(18)
80. (125 =3125%,x =? 83. O & (It I 8% 2CF 4 I2CAA Gy
S | wit feq @1 (Principal) (R0 (002 (3 GRS (<13
( A 2N 160 Bipl Z@0Z | SPIETA #1197 F© il
®) 2 217
©) 3 (A) 400
5 (B) 600
& 3 (C) 250
(1257 =3125 A/, x =2 (B) 500
A) 5 Ush SAfRIe] AT TS i shAT o= o
, (Principal) T& — 8% SATSTH 4 THeH! AT, =Tsiaht
®B) % IR 160 ¥IC T3 | e SR e g7
© 3 (A) 400
5 (B) 600
(D) 3 (C)@’
81. AEILT ARA RAICTS (RS FiZoerl %o
JIR A FIF9 2o—
Gy TG leq I TGP o SeeAfe oy R cecer
(B) =GN 3 e 4y e k! e
(C) I FzewTey )
(D) TR e iz 2 IR
mmm(ﬁla:&v e
ATEShHH TERT T8 HR0—
Frafefad
(A)Wq@ﬁua@ o CNEd 7 TR Sedfed S fefesme
(B) =M TH g, @)
(C) Tz Hes ®) vg
(D) EHH =TT &l (©) =T
(D) fawm
8. 103
45 | 58 85116 | 25/(36 | 16][25 | 4
3 || 2 28 41 42
R T 721 2T QU L1 QT 0
-
12
By 25
X9 3 ) 8
(D) 9 D) 52




